MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 | 17 18 21 er“ %Er“
i WA HEXHAD | e | 0 . | MEBET| VR || WA | R | e |EEEE®| e | M | | AV Tk | BB TEREE | any
&7 TReeT| R BekA| SRR BE TS i | s | oy | o | BB | SR TG A | e | 8 g migx | R | TR
b ER | A AL
1| #fighoKiEE G 5.2 3.0 150 24 102 283
2 [FZILTIE 0.93 0.68 1.6
3 [TIINEETET L 7.6 459 0.021 167
4 | T UYL OV DKIETE 12 0.032 12
5 |TIINVEE2— (PAFNTI)) =T )V 459 459
6 |[7I/ULEE2—LRaXy T F L 0.057 0.0006 0.058
T T2V =L —TF )L 26 0.055 26
8 |[TIUNEATF IV 0.036 459 0.002 459
9 [77Va=RL 0.067 163 0.014 163
10 [7raL 1 118 527 3,849 22| 1,009 58] 233 5,817
1L [72AeF R A 0.14 0.14
12 [7EbATER 0.007 546] 2,898 22,554 116] 4,239 2,678 311] 214 0.003 53 33,607
13 [7Eh=FL 150 3.0 33 186
14 [7Eb 2T IERY
15 |[7eF77
16 [2, 2°—7 /ALY TFu=pJL 0.0003 0.001 0.001
17 [Anb=—T=>r
18 [7=U 0.13 0.025 0.15
19 [1—737—9, 10—7 7% )
20 193 43,122 42,427 85,742
21
22 5.0 32 37
23
24
25
26 |3—T3/—1—Tu~X
27 | AF#3bm
28 |TUNLT)La—)L
29 [1—7ULAFL —2, 3—TRxy TSy 8.0 8.0
BT IVF NP AR OED
30 [H (7 ARV IEDRFEIN10H14ETO 939 2,358 97 72,461 31,318 107,173
HOROZEDIREYIRD, )
31 |7 FRVROEDILEY 14 0.61 99 2.4 116
32 |[7obotr 0.0005 0.0005
33 Ak
ag |3— AV T FIAF =3, 5, 5—FIAF L B
3 pan =4I T Rk 0-70 0.70
35 [ A/TFNTNTER
36 (/7L 4,592 4,592
37 [EA7=)—LA 0.025 2.7 2.7
2, 2" —{(V7eEIFUER[(2, 67
38 |mE—4, 1—Tx=L)FFV]}oxH
J—v
39 [T7=F kA
10 [E7=FF 240 240
41 ; 582 582
12 [2—AF VYL FF 1.3 1.3
13 (080
14 LY LR OZEDILED 0.0003 0.019 0.020
45 | =B TFH—L
16 [ oky T TFL 1,519 1,519
47 |7 HIRA 36 36
48 |EPN
19 [~NUF gAY 3,825 3,825
50 [EUx—h 904 904
51 [2— TIFL~FV 35 0.51 35
52 |[7F=hNT 120 120
53 [ZF N~ B 58,722 9,031 24 33,448 779 56,709 1,341 741 4,522] 18 29 7.4| 165,430
54 [RAFTE—k 252 252
55 |TFL A3
56 |=FLAFUR 1,032 178 1,210
57 |=F LoV )a—LE JTFLT—FL 760 0.004 0.40 760
58 |=F L S Ya— LT/ AF VT —T )L 39 0.33 40
59 [xFL YT 0.032 0.001 0.034
60 |=FL o 73 U 2.2 19 83 104
61 |~v %7 675 675
62 |~vrats 3,071 3,071

-1




MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 21 er* %gr_
q e HEXHAD | e | 0 . | MEBET| VR || WA | R | e |BEREB| e | M | | AV Tk | BB TEREE | any
&7 TReeT| R BekA| SRR BE TS i | s | oy | o | BB | SR TG A | e | 8 g migx | R | TR
b ER | A AL
63 |OUT T 1,841 1,841
64 |ThT=rTuy IR 2,875 68 2,942
65 |t Z/unbeRy 0.10 0.10
66 |1, 2— 7 T8
67 12, & — 11— )=
68 |me{k 7oL 0.050 0.050
2, 3—TRFL TN =T 2= —F
69 |7
70 T AYF U Blal BEBE R o~ A7 F 13 13
“Bl1bZEAEMIEORE
71 #k 0.49 0.49
79 74 (RFEFAT10IH13ETOL
DR OZEDREWNIRD, )
73 1—A2H )=V 0.17 0.0003 0.17
4 G FAIFN T2 )— L 0.077 0.077
75 IRV LR OZOILEY 0.022 1.3] 0.032 17 0.54 18
76 AT ur—hTuSrE L 0.23 0.090 0.32
7 Iy syTFIR
8 [2,4—FL L /)=
79 ]2, 6—FLL/—)L
80 |l 76,345 11,295 197]  1,249]  60,967| 499,287 3,988 225,489 4,104 3,402 11,719] 311 126 22 38| 898,540
81 [¥ /U 0.0001 0.0001
82 [#R% D KIBHELAY 19 29 0.29 48
83 |/ A 690 2.0 1,172 35 1,898
84 |7 VAXH— L 0.052 0.052
85 |/ VHNTILTER 33 0.30 34
86 (/LY — 3.1 62 0.003 65
87 |/ O =Miznsbe 2.3 0.053 14 12 63 1.7 93
88 | Az &Y 1.0 1.0
89 |Zoor=y»
90 [FhFv 724 724
91 [2 7o 162 162
92 |[ML 7= ETR 150 150
93 |AhF7m—)L 1,318 1,318
94 [Hifke=v 1.1 1.1
95 |[IATOF A 310 310
96 |Y7x /a3 — 341 341
97 |1—Zup—2— (ZupAF L) B
98 |Zoofifg
99 |rZuanfiE=F L
100 [FLFFrm—1 4,004 4,004
101 [F5rm—1 6,479 6,479
102 |[1—ua—2, 4—y=pa~ £
103 [HCFC—142b 5,218 5,218
104 [HCFC—22 19,390 19,390
105 [HCFC—124
106 [HCFC—133
107 [CFC—13
108 [/ 1,511 1,511
109 Ak Jaaii—y
110 |/NF—7maphLxy
111 [2—/an—4—=fr7=Y
112 [2—Zmn=pa_ P
113 2 2.0 2.0
114 114 114
115 | 7= 41,535 4,535
116 [~N¥L FT7VIA 10 10
17 |7 72— 596 3.9 600
118 [3vurs= 35 35
19 |[7xvTatry—v
120 |AVh—vaa7e/—)v
121 | X5 —Jmuarx /)—)L
122 |2— a7 ut’ s g
123 [Hfb7 v
124 |73vmy 18 18
125 [7ma~ By 215 1,127 9.6 3.2 1,354
126 [CFC—115 10 10

-2




MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

- 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 21 22r_ %gr_
! WA, HERED | x| , ey | MREES| P || R | s | L s [BERET| | | Wi | | YR T | MR R ag
iRz) iﬁﬁi) ’f SRS | AhoRl | BEA | B 1 hEns | A vou | om | B [N W A W | A KiE e iy %i}ﬁ% %ﬁiﬁﬂjé}é
127 |ZoukiL s 256 1,782 331 3.3 2,372
128 |HfifbAF /v
129 |[4—rmn—3—AFNTx/)—)L
130 |[MCP
131 [3—Zun—2—AF )L —1—7u~
132 |2 LR OZOILEY 16 0.035 0.74 146 0.17 163
133 f%vyy“u:~»~f/1»7—»1~:iw7t 693 0.009 693
134 298 422 3.5 723
135 »}'7‘]%‘/7"):—/&%/x%zv:—?/w’%z

=
136 |YFVF AT IATER
137 S 73K
138 |7y Avh
139 |FFuAR» 4.2 5.3 9.5
140 |7 =27/’ ph)v 30 2.1 32
141 108 108
142 |2,
143 14,4 =073V T ==V =—F)L
144 | RS T ALE W GEI R O 7 Bt 21 209 930
145 |2— (V=FNT3)/)) B )—)L
146 |EVIRAAT )V
147 | FAHNT 264 264
148 |7 = Abh—)L 357 357
149 |z 0.16 0.16
150 30 4.5 35
151
152 1,116 1,116
163 | 7hF AN 328 328
154 |2 7a~¥ I NTI
155 IN— G 7a~x I )VFA) 7HVAIK 1.0 4.2 5.2
156
157 33 0.53 34
158
159 [vA—1, 2—Y/unxFL
160 3,3 —Ysun—4,4 -7V T =

JWAZ
161 |[CFC—12 8,132 8,132
162 | 7o 43R 338 338
163 |[CFC—114
164 |[HCFC—123 989 989
165 A=1=1Vi 2
166 7un—4—=par Py
167 |1, 4—y/an—2—=pa~ £
168 |[f7 a4 366 366
169 |[Yymy 0.35 1,202 0.38 1,203
170 |FhFatry— 12 12
171 |Fueaty'— 255 42 298
172 | AP rnrtRy 302 302
173 |[Bv oy
174 V==anu» 9,422 9,422
175 12, 4—D 129 129
176 |[HCFC—141b 16,343 16,343
177 [HCFC—21
178 |1, 2—vrmn7n/Sy 5.0 5.0
179 |ID—D 10,028 10,028
180 13, 3" —yrmp_ vy
181 |V By 0.45 496 82,160 0.015 12 82,669
182 1,010 1,010
183 1,898 1,898
184 |Yyn~_=)L 5,436 5,436
185 [HCFC—225 163 163
186 |HifbAF L~ 19,502 21 19,523
187 |\ FT ) 630 630
188 IN, N—y v /a~f3 L7V

@-3




MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

i 1 2 3 1 5 6 7 8 9 10 11 12 13 14 15 [ 16 [ 17 18 21 er* %Er*
! WA, HERED | x| , ey | MREES| P || R | s | L s [BERET| | | Wi | | YR T | MR R ag
&7 BT ROk B BA | R TR p | s | oon | o | DB | SR TR B0 e | e | R | e miii | iy | B
189 [N N= TS IanX il —2= VT FT
=V IV T =T IR
190 [Jvra~o Boxy 0.0007 0.0007
191 [ (Y TuFAT 3,152 3,152
192 | TF 4T x L RA
193 [=F /L F A AR
194 |ARHrm
195 | 7 uFFhA 517 517
196 (AT XTI~ 184 184
197 [~5/v 781 781
198 [V A= —F
199 |CIZ AL A 1260
200 |Y=hahl>
201 —fa7=/—L
LBy
0.48 0.48
0.00007 0.00007
30 30
207 |6 T T mAm 2.6 30 16 0.036 18
208 |2, 4— YV —F—I¥V—TFNTx)—)L
209 [T uE/anrsy 399 339 738
210 [2, 2— V7€ —2— L7 )7 LRI IR
211 [/ —2402
TETz—k 2,665 2,665
192 7.0 0.35 200
AFNT =V
216 [N, N—PAF AT = 0.009 0.009
207 [FALITA 100 100
218 [DAF LTI 1.3 0.003 1.3
219 |[VAF NI AT 4R
220 [CAF I FH AN BED KV
221 [ TFINT 113 113
222 |7 )FANNT
223 [N, N=VAFARF LTI
224 | NTHAT KT T R EN AR 60 12,176 251 12,487
225 [N 7Ly 950 5.4 955
226 |1, 1—VAFJLERTDV
227 ["Fa—F 1,315 1,315
998 |30 3 —VATNET 2= —4, 47 —A
=AY T F—h
229 [FAT 7 x— AT 2,785 2,785
930 |IN— (1, 3—UAFNTFN)—N —Tx=
231
232 9,581 9,581
233 314 314
234 |5 0.13 0.011 0.14
235 | KRR KAVES 0.0003 0.0003
236 |7 AAFL =) 210 210
237 KRR OZDALE L1 14 34 19
238 |KFETNT =)L
239 | 5K 3.0 3.0
240 2,017 0.12 16 539 10,556 704 81| 2,278 16,951
241 2— ZIVIRANF YT H U — 1 — AF LT A
TV L
242 > 0.006 53] 0.002 53
243 378 378
244 16,598 16,598
245 0.0002 0.001 0.002
246 |[FA T =)=
247 [E5 7k A
248 | FATV ) 4,680 4,680
249 [/ LEYRA 279 279

-4




MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

i 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 21 er“ ‘Zﬁr“
! WA, HERED | x| , ey | MREES| P || R | s | L s [BERET| | | Wi | | YR T | MR R ag
iRz) iﬁﬁi) ’f SRS | AhoRl | BEA | B # (ebimss | s vou | om | B [N " A =N KiE W i %i}ﬁ% i’%%jéﬁ
250 | (VXY F A 493 493
251 |T==hkaFAr 6,230 108 6,339
252 | 7= F AL 50 50
253 | 7a 7= JiRA
254 [ {7 B_U KA
255 |FH70EY T2l —TF )L 0.086 0.086
256 3.1 3.1
257 | T ) —)v 122] 0.0004 1.2 123
258 [ ~FHAFL LTI 0.73 112 0.68 113
259 | AN T 450 2.9 2.9
260 |ZonXo=,L 4,954 4,954
261 |79 IAF 1,374 1,374
262 |FhornnTFL 2,181 3.8 5.6 2,190
263 |CFC—112
264 2,3,5, 6—Th77un—R5 -~ %)

e
265 |7 hIERTAT VKT 2V
266 |77 /LR 154 154
267 |FAVINT
268 |FFL 2.1 2,500 2,502
269 | AV T Ah—)V
270 0.0002 0.000009 0.0002
271
272 2.1 96 78 21 10 207
273 0.65 96 0.0005 97
274
275 209 204 0.29 25,421 9,317 35,152
276 0.67 4.9 5.6
277 [N=F LT3 79 57 136
278 |N=F LTI 2.4 11 13
279 (1,1, 1 —R)rapxk
280 |1, 1, 2—hJrppoly
281 |N/noxFLo 5,427 1.3 7.8 5,436
282 |’ afElE 1.2 5.6 6.8
283 |2, 4, 6-hJroma—1, 3, 5—RT7Vv
284 |CFC—113
285 |y sy 247,617 247,617
286 |RV7mE )L 452 452
287 |2, 4, 6-hJypar=/—)L
288 |CFC—11 13,256 13,256
289 |1, 2, 3—hJruarus sy
290 Mo~ Py

1, 3, 5— KA (2, 3—TRFT7rE L) —
291 |1, 3, 5—hJT7Vr—2, 4, 6(1H, 3H, 5

H) — A~
292 |N)TFNLTI
293 N7 LT 1,941 1,941
294 12,4, 6—h7uETx/)—/)L
295 |3, 5, 5—hUAF /L —1 —~FH/—/L
296 |1, 2, 4—hUAF LB 16,681 858 473 583 38,439 231 25 139 57,429
297 |1, 3, 5—RUAF LB 7,265 68 128 9,684 822 19,305 490 857 1,403 14 13 40,051
298 |NLL VAV T F—h 2.7 2.7
299 |ML AT 0.029 0.020 0.049
300 [MLxy 129,201 5.5 2.0/ 12,476] 52,885 7,380] 1,011] 403,027 6,122 4,850] 15,714 233] 110 229 1.7] 633,246
301 |l P73
302 |F7HL 1,223 3,238 1.1 894 951 20 6,328
303 |1, 5—FTHL LAV =AY T F—b
304 |40 0.031 0.031
305 gkt 4.4 16 120 56 8.4 204
306 | —7 ZVNVEEA~FH AT L 0.068 0.068
307 | kb va=un
308 |=v AL 0.067 0.001 0.068
309 AL E 1.4 3.2] 1,827 21 4.4 1,857
310 | =hYe —FERE
311
312
313 |=Far &)

@-5




MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 [ 17 18 21 er“ %Er“
i WA HEXHAD | e | 0 . | MEBET| VR || WA | R | e |EEEE®| e | M | | AV Tk | BB TEREE | any
&7 TReeT| R BekA| SRR BE TS i | s | oy | o | BB | SR TG A | e | 8 g migx | R | TR
b ER | A AL
314 [T —=paroa P
315 |A/Vb—=brbL T
316 |[=fra~r By 0.45 0.45
317 [=huAz 0.099 0.099
318 | —fiifk R 0.72 0.066 0.79
319 | )= — /=)L T )L a—)v
320 V=T =) =)L 0.007 0.12 0.12
321 [NFVYIMLEW 0.071 30 111 0.22 141
5’)7 [N, N—ER(2—=TktFLItX=F
oo |PVNT]—2"—(2—TuET—4, 6—V= - .
S AT 2 mTY) — 4 AR TR =Y 15 2.5 1.0
K
323 [S AR 386 386
394 | 1> 3—tA[(2, 3—x=RFT T ut L) 4%
N VIR
325 [ A% 4 2,723 2,723
326 uT=  FVL
327 [1, 2—EA(2—un7 ==L ) ERTVv
328 [UF4 0.43 1,792 1.1 1,794
329 [ARUA— 3 A—h 19,840 19,840
EA(1—AF N —1—Tz=/LF)L) =~ .
330 | wor 2.1 0.29 2.4
331 [HAPHRA 279 279
332 | fit# Kk O DML &) 0.00002 6.6]0.000006 6.4 0.50 13
333 v 0.94 0.94
334
335
336 [ERm¥ /v 0.99 1.7 2.7
337 N—1— ra~Ftr
338 NEVD
339 = =D
340
341
342 0.98 0.22 1.2
343 [hFa—n
34 | T == VA XL T
345 | 7x==/LER
316 211 211
347
3418 P
349 |[7=/)— 31 0.052 23 54
350 341 161 503
351 317 617 11,762 176] 1,095 2,765 311 291 17,334
352
353
354 |[TENEEY — IV —T T )L 11 11 475 497
355 | 7BV A (2— T F )L~F L)L) 137 23 160
356 4.2 1.2
357 105 105
358 20 20
359 /}b’?/k77%1V72, 3—xRF S ur’
Y rz—7
360 [~/3L 1,315 1,315
361 [>uky ST FI 1,853 1,853
362 |UT 7= Funy
363 [AXHTT 616 616
364 |7z Eady A—h 19 19
365 [BHA
366 |4 — v ) — 7 F /L =ERa - LAF LR
367 | AN—C N H)—TFNTx)—)v
368 |[4—F—s ¥V =T FNTx/)—)L 0.15 0.095 0.24
369 | /ULy R 60 60
370 L&~ 20 20
37 |77 7= ETR 10 10
479 [IN= (=X ) =T F L) —2— LT FT 3.9 3.9

S = NVANT =T IR

@-6




MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

i 1 2 3 1 5 6 7 8 9 10 11 12 13 14 15 [ 16 [ 17 18 21 zzr_ %Er“
3 e KHEHEFRD S TR IE | . |y S Ik e 1 R T ERGN - —REE | PEERE VNS
%5 i whaor| g | meon | ponal | om0 TR DR BB RS am | e | PARP) e | VR | | iR s | s | s |
Z PRl | K
373 |2 AT F N~ AFNT =) —
73 L
374 | 5o bk B O DKM 870 8,403 2,547 11,819
375 [2— 7T —)L
376 |7 Hs0—)L 8,296 8,296
377 |75
378 | /uEx 1,750 1,750
379
380 |~ —1211
381 |[FRED/OOAS 638 220 859
382 |/~m-—1301 8.0 8.0
383 [T uvib 4,190 4,190
384 [1—TuES sy 3,936 3,936
385 [2—FrET sl
386 | RALAT L 13,019 13,019
387 [FRALT = T BAR
388 [T R AL T 7o
389 ?*”&7%::/”’]‘”’(%"7‘/%:71*:'/“U 19 505 156 680
390 [~XHFAFLLUT I
391 [~XFAFL L =4I T Foh 0.54 0.54
392 [V~ —~F Y 43,832 1,689 3,366 76,930 1,332 0.42 15| 127,165
393 [~FFTh—1
394 [~RYYT LK OZDLED) 9.7 9.7
395 |~ULARY RiEED KIREH 1.2 1.2
396
397
398 0.010 0.00007 0.010
399 [~y AP LFER 0.004 182 5,060 108 553 293 78 0.0003 6,274
400 [~y 3,287 15 6,188]  504| 77,743|  1,823| 5,127]  6,645] 311 307 3.8 42| 101,983
201 /1J(,é,47/\/-k/wmvﬂ~/§£1, 2=8 1 00002 0.00002
102 (A7 =T vk 1,652 1,652
103 [Ny Tx ) 0.003 0.003 0.006
404 | XvEraa7 e )—)v
405 13HF LAY 127 42 42 157 17,070 17,438
106 [PCB
R (FFLTFLL) =T LF)LT—F)L
407 | (F ARV IEDBFEHN1 205 15FTOL 118 9,540 14 232,550 14,892 257,415
DR OZDIREYNIRD, )
108 1z(;ff§/1}V/)*7”7’WI“’” 16 4977]  0.007 6,980 26 12,028
R (FFL2F L) =R T LT =T )1 00 97
409 | o T e, 41| 23,115 3.1 52,078 20,277 95,514
1410 ?;?L(**/I}V/)*/“’”:‘“”I* 16| 4,857 2 952 86 6,634
411 [V LT AAFER 7,260 396 2,084] 759 51,835 347| 19,251  8,074] 933] 146 7,902 612 15 99,613
412 [~ Iy ROZFDILED 2.5 16 22 4.7 3.3 49
413 (MK A0k 1.8 1.8
414 |k~ A 0.012 0.000003 0.012
415 [AE IV 20 0.84 21
416 | AZ IV VEE2 — = F L ~F )L 1.1 .1
417 [REIVVEE2, 3— =%y TaEL
418 [AHVINE2— (CAFATINN=F L 0.009 0.012 0.021
419 |ABIYNER I N~V —T F )L
420 [AZTYNEEAT L 108 240 12 652
421 |4—AFVF A% —2—F
122 [TV LT 1,587 1,587
423 [AFNLTI 0.0004 0.001 0.001
124 [AF NN =AIVF AT F—F 1,080 1,080
425 (YT ahNT
126 [ FT T
427 v 535 130 665
428 |7 =) T INT 16 200 216
429 AL TOLAF L 79 79
430 (A~ REY IV T 5.0 5.0
431 [7 /% Abaey 1,742 1,742

-7




p

MG a4 HEHPRRI - RGP B O P BEAEEHRE R (RN SAEE - B bR (1. SRR E T FREH DO 2 Y)Y DL T ~23. 0 SEBEFEY) e KTt i3

XA FE

FERIPR & (ke/%F, ZAA T Fi3Ime-TEQ/4F)

. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 er“ %Er“
1 e KHEHEFRD S TR IE | . |y Ik e 1 R T ERGN Py, P - —REE | PEERE VNS
&5 e whaor| g | meon | pomal | me RS B DR BB aa | s |[RIB) gy | IR e | TR TOIE | BT | e | e | O
4 PRl | K

432 [7IRGRX
433 [— A 1,950 1,950
434 [A XYL 41 41
435 [EVI /8wy AF L 221 221
436 [T N T 7 —AFNAF L
437 |3—AFNTF AT, F—)L
438 [ AFNF T XL 5.2 8,142 0.95 0.020 8,148
439 |3—AFNAEVY

1—AFN—1—Tz==/LF )L =bRa~
4o | ok 0.11 0.30 0.41
441 2— (1—AFNLTOENL) —4, 6—=Fn

Tx/)—)v
442 [ A7 a=)L 200 200
443 [AI3v 270 270
444 [FJ7 % L ARaE v 113 113
445 [JL V%Y DAF IV 604 604
446 [4, 4’ —AFLLOT =V

AFLUERA(4, 1= 7ua~Fily) =y "y ;
M7 70 0TS 0.62 0.62

AFLUER(4, 1—T==Lu) =DV .
a8 |25 40 0.082 40
449 | T =L AT 4T 7 A
450 [EVTF AT 54 54
451 |2—ARFT =B AFNT =V
452 |2—ANVAT AR FT Y — )b 3.4 3.4
453 [£VT T RO DL 1.8 243 0.21 245
454 [2— CENKI ) OFH) NS F T —L 0.28 0.28
455 [FE/L AR 37 47 84
456 [DAALT VI= L 55 55
457 [V LR A 545 545
458 |DABEN A (2— T F N~F L)
459 [VABEN A (2— 7o 5 )L) 2.7 2.7
460 [ ARERIRY/L 0.72 0.72
461 [DAMER) 7 =)L 0.97 2.8 3.8
462 [V AREN— IV~ — T F )L 0.0001 0.0007 0.0008

& i 395,519] 496,011] 3,477] 17,849] 157,506] 519,284 446,263]  83,054] 26,893 11,281]1,005,379] 15,352] 43,498] 56,147] 2,798] 1.194] 2.820] 63,509 378] 25,637 131,267 3,430 501] 3,508,671

@-8




